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3HQHOLWLDQ� LQL�EHUWXMXDQ�XQWXN���� XQWXN�PHQJHWDKXL� � VWDWXV�NHEHUODQMXWDQ�
PDVLQJ�PDVLQJ� GLPHQVL� �HNRORJL�� HNRQRPL�� GDQ� VRVLDO� EXGD\D��.DZDVDQ�:LVDWD�
0DQGHK������XQWXN�PHQJHWDKXL��VWDWXV�NHEHUODQMXWDQ�PXOWLGLPHQVL��SHQJJDEXQJDQ�
GLPHQVL�HNRORJL��HNRQRPL��GDQ�VRVLDO� .DZDVDQ�:LVDWD�0DQGHK�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� GHVNULSWLI� NXDQWLWDWLI�� 3HQHOLWLDQ� LQL�
PHQJXQDNDQ� VXEMHN� SHQHOLWLDQ� \DQJ� PHPLOLNL� NDLWDQ� WHQWDQJ� NHSDULZLVDWDDQ��
OLQJNXQJDQ�� NHEHQFDQDDQ� GDQ� NHZLOD\DKDQ� .DZDVDQ� :LVDWD� 0DQGHK�� 7HNQLN�
DQDOLVLV�GDWD� \DQJ�GLJXQDNDQ� � \DLWX�PHQJXQDNDQ�SHQGHNDWDQ�0XOWL�'LHPQVLRQDO�
6FDOOLQJ� �0'6��\DQJ�GLNHPEDQJNDQ�NHGDODP�DSOLNDVL�5DSILVK� �5DSLG�$SSUDLVDO�
RI� )LVKHULHV��� DQDOLVLV� /HYHUDJH GDQ� DQDOLVLV� 0RQWH� &DUOR �� 'LPHQVL� \DQJ�
GLJXQDNDQ� XQWXN� SHQJNDMLDQ� DQDOLVLV� NHEHUODQMXWDQ� .DZDVDQ� :LVDWD� 0DQGHK�
PHQJJXQDNDQ� GLPHQVL� HNRORJL�� HNRQRPL� GDQ� VRVLDO� \DQJ� PHQFDNXS� ��� DWULEXW�
SDGD�PDVLQJ�PDVLQJ�GLPHQVL���

3HQHOLWLDQ�LQL�PHQHPXNDQ�EDKZD������6WDWXV�NHEHUODQMXWDQ�PDVLQJ�PDVLQJ�
GLPHQVL� \DLWX�� � VWDWXV� GLPHQVL� HNRORJL� DGDODK� VDQJDW� EHUNHODQMXWDQ� GHQJDQ� QLODL�
�������VWDWXV�GLHPHQVL�HNRQRPL��DGDODK�VDQJDW�EHNHODQMXWDQ�GHQJDQ�QLODL���������
GDQ� VWDWXV� GLPHQVL� VRVLDO� DGDODK� VDQJDW� EHUNHODQMXWDQ� GHQJDQ� QLODL� ������� ����
6WDWXV�NHEHUODQMXWDQ�PXOWLGLPHQVL��SHQJJDEXQJDQ�GLPHQVL�HNRORJL��HNRQRPL��GDQ�
VRVLDO�� .DZDVDQ� :LVDWD� 0DQGHK� EHUNLVDU� DGDODK� VDQJDW� � EHUNHODQMXWDQ� GHQJDQ�
QLODL�������
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